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e E2ae i (Sl & &)
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Fa=gn'3 40,007,393 34,308,343 5,699,050
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= 500,000 0 500,000
=) 1,650,950 1,685,800 A 34,850
e 22,500 0 22,500
s 23,231,143 20,057,343 3,173,800
ot st E2HAH =3 7,616,920 7,761,920 A 145,000
X 1,052,000 1,062,000 0
= 6,564,920 6,709,920 A 145,000
SZ2ae e 601,060 602,060 A 1,000
=37 22 7,000 8,000 A 1,000
201 L Er2 A | 7,000 8,000 A 1,000
01 At22t2l bl 7,000 8,000 A 1,000
Osg & SJl===82 & 7,000 8,000 A 1,000
C2EF i 7,015,860 7,159,860 A 144,000
Xl 1,052,000 1,062,000 0
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X 52,000 52,000 0
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X 112,000 0 112,000
= 24,000 0 24,000
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= 1,300 1,200 100
2|8k B YA 30,000 150,000 120,000
401 Al HI L 2 T 30,000 150,000 120,000
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< 226,800 220,800 6,000
= 336,398 327,398 9,000
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OZ& EXHM MolAZE M=K HHAE 0 30,000 230,000
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=) 0 6,000 A 6,000
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= 1,500,000 300,000 1,200,000
01 A& HI 1,500,000 300,000 1,200,000
Oz AJIXF tH==IH& A 1,500,000 300,000 1,200,000
= 1,500,000 300,000 1,200,000
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Xl 300,000 0 300,000
=) 38,000 0 38,000
[ia 90,000 0 90,000
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=) 38,000 0 38,000
= 90,000 0 90,000
01 A€ HI 428,000 0 428,000
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allEE TASsSH =4 5,468,050 3,580,400 1,887,650
= 37,500 0 37,500
X 1,200,000 700,000 500,000
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201 Let24E] 18,000 20,000 A2,000
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OZAINAE 22102 2,000,000 *33] 304 At 18,000 20,000 A 2,000
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Xl 500,000 0 500,000
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OZAMAHEEZ FXNE=(LAS23-1562 3
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Q2O 2EXE ALY 37,500 0 37,500
= 37,500 0 37,500
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= 37,500 0 37,500
01 AFR2t2lHl 37,500 0 37,500
ORUAEII HEXZAMY 37,500 0 37,500
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SAIHE 2 (BX) 2,150 0 2,150
=) 2,150 0 2,150
202 044l 2,150 0 2,150
=) 2,150 0 2,150
04 =X 204l 2,150 0 2,150
OHEWSE0F BII =sAl2 QAHMEE 2,150 0 2,150
< 2,150 0 2,150
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